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ISR - B - R RE ISR - B - R RE
ISR - C - ﬁ%ﬁw‘ ISR - C - ﬁ%ﬁm
ISR - D - v Tk ISR - D - e Tk
TR 44 (43) A A — R 9:30 M5 44 (42) 2 — IR 12:00
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -5.0C / -6.1C 2B —K/T 4=y a kiR -1.3°C / 0.0C
F=1010
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 1L L I 5| H%E fil A b
1 2 1026678 =JF hdo CLUB Doing 1:41.98 1:46.42 3:28.30
2 4 1040657 BESH #HE 55 N IR IE A 2 — 1:4510 1:4711 3:32.21
3 3 1042629 =J§ EH CLUB Doing 2:05.62 2:04.10 4:09.72
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
1 1028044 FjE fH — BT A
DISQUALIFIED [2nd RUN] 0
2022-01-08 / IEHIFB D X FRA X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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ISR - A - A B2 ISR - A - A B2
ISR - B - R HhAE ISR - B - R HhAE
ISR - C - e KU ISR - C - e KU,
ISR - D - v Tk ISR - D - e Tk
TR 44 (43) A A — R 9:30 M5 44 (42) 2 — IR 12:00
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -5.0C / -6.1C 2B —K/T 4=y a kiR -1.3°C / 0.0C
F=1010
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 1L L I 5| H# fil A b
1 5 1027132 FHME fEHE F—LAHA 1:35.95 1:40.19 3:16.55
2 6 1041306 {Ftik = —E T A — 2:38.73 2:27.94 5:06.67
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2022-01-08 / IEHIFB D X FRA X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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AREBS— 3 No. SAJ-04-GS-50/91
1A4H 2 K H
a— 2y K — G [Z5] a— Ry H— [ [Z5]
ISR - A - A B2 ISR - A - A B2
ISR - B - R HhAE ISR - B - R HhAE
ISR - C - e KU ISR - C - e KU
ISR - D - v Tk ISR - D - e Tk
TR 44 (43) A A — R 9:30 M5 44 (42) 2 — IR 12:00
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -5.0C / -6.1C 2B —K/T 4=y a kiR -1.3°C / 0.0C
F=1010
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 1L L I 5| H%E fil A b
1 8 1012308 #Epk HiwE=d CLUB Doing 1:14.37 1:18.69 2:33.06
2 7 1028041 FjE Y — A —E 1:33.17 1:37.38 3:10.55
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2022-01-08 / IEHIFEB D X FRA X —8; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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RET A — 3 No. SAJ-04-GS-50/91
14AH 2 K H
a— 2y K — G [Z5] a— Ry H— [ [Z5]
ISR - A - A B2 ISR - A - A B2
ISR - B - R HhAE ISR - B - R HhAE
ISR - C - e KU ISR - C - e KU
ISR - D - v Tk ISR - D - e Tk
TR 44 (43) A A — R 9:30 M5 44 (42) 2 — IR 12:00
KA H i =8 Hard PN H i =8 Hard
2B —K/T 4=y a kiR -5.0C / -6.1C 2B —K/T 4=y a kiR -1.3°C / 0.0C
F=1010
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 1L L I 5| H%E fil A b
1 9 1009693 ffiH K— SKI TEAM S 1:11.24 1:14.17 2:25.41
2 10 1021504 ¥ BRAE X*¥7 7y bhU— 1:13.51 1:16.75 2:30.26
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2022-01-08 / IEHIFEB D X FRA X —8; G8/ 1
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TIMING by SET KO



